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2, TSI / JAUT 31 38.75
3. STHIYANT / STt 19 23.75
4. I / AfeTheT 7 8.75
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2 el & UPHR UG JHIR —
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1, IS / gl ourcid
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AT | 30 80 100 170 e
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1, Ao U4 AT TR 4 5.00
2. LISCESE] 6 7.50
3. SRCINEI 4 5.00
4, gfeRell Ud e a8 3 375
5. <% Siiae § <9/ A 4 5.00
6. NG JAMfhaT Td ISRS 3 3.75
7. URATY] RIGI, Tedl BT 3fTac] ailldRor & | 5 6.25
TTOTER
8. B T I9D AIRD 4 5.00
9. TehTel 5 6.25
10. [EESICIN] 5 6.25
11, EUASIRNCINIES] 5 6.25
12. JqQ YTl GHTE 4 5.00
13. YR Td gEBT Fawerd 3 375
14, UTey Ug STgall @ 3T Heed 5 6.25
1. gl Bl R 3 375
16. ESIESRCESCREEaE] 3 3.75
17. ged] & d18% Siigd I Gl 3 3.75
18. | MRAM IeM: Sfiaw U= Ud Suafert | 3 3.75
19. SIg fAfSerdT Ua ST AReToT 5 6.25
20. qgh Rel 2 3 3.75
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™% Roll No.
C I e 1
AT YT U Aregfie udEm 2018
SECONDARY EXAMINATION,
MODEL QUESTION PAPER-2018
fasm
SCIENCE
a1 3%, =90 qoTi®—80

Wy & fov am= fAde—
GENERAL INSTRUCTIONS TO THE EXAMINERS:

1. el AdueE U U UA W A Afardd: ford |

Candidate must write first his\her Roll No. on the question paper
compulsorily.

2 T T B A 2|
All the questions are compulsory.

3. JAH U BT SR, & Tg SIR—GRADT H & fored |
Write the answer to each question in the given answer- book only.

4. R gl # 1aRe @ € 39 99 & SR US 91 & ford |
For questions having more than one part, the answer to those parts are to
be written together in continuity.

5. ge UF & 2=l T U RUR B GbR Bl Ffe /3R /
faRIEmT 8 WR 2= |INT & Yo Bl Hal A |
If there is any error\difference\contradiction in Hindi &English version of

the question paper, the question of Hindi version should be treated valid.

6. AT EEGIRICI] 3ih UAH U
3 1—11 1
g 12—21 3
4 2227 4
T 28—30 5




Part Question Nos. Marks Per Question

A 1-11 1
B 12-21 3
C 22-27 4
D 28-30 5

U9 $hHib 27 W 30 H RSP fddbed & |

There are internal choices in Q.no. 27 to 30.

YU

SECTION-A
Ri @1 ef$dl g ST Ud ged uRi—u 1 S, faerf®s & &9 & 8
qrer foret 0T S R § ? (1)

Deficieney of which vitamin causes the bending of the leones of legs
and the knees coming closer ?

el @ a1 foft gmEl & 9 forfay | (1)
Write the sexual harmones of woman. (Two Harmones)

Qe S0 T A A IRy | (1)
Write the general formula of alkene series.

Rh PR &1 @ioT pd ToTiy & §av ¥ g&? (1)
Write the species of the monkey in which Rh factor was discovered ?
fag el Ud uRT R @1 udie g 9 | (1)

Draw symbolic sing of electric cell and rheostate .

9 91 e H Ud favemue Hiex # g ar v & A fRkag | (1)
Write the unit of work when force is in newton and displacement in
meter ?

a1 SR Gl @ A Ry | (1)
Write two names of renewable resources.

feefiRar g feeqw @& 41 59 UdR &1 ufoRelm & Saexor 8 7 (1)
What kind of examples of immunity are the vaccinations of Diphtheria
and Titenas?

frdl 7= & SRR &1 S UTHY i & Al 96T B avf faRay | (1)

Write the blood group of a person whose genotype is ii.

2




10  #YARE] UTed & &1 STl & AW foiay | (1)
Write two names of products of culture.
11 Stafafderar & alR¥mT faRey | (1)

Write definition of “Biodiversity”.

GUg—q

SECTION-B
12 TG, AfGRT T ABH & Jaq § A9 WReY WR B dTel {uwTal Bl
T (IAF B aI-al) | 1+1+1=3

Explain the harmful effects of use of tobacco, alcohol and opium on
human health giving two examples each.
13 A, fReUA vd sroge-a ifafshamil &1 o arell Th—yd
RIS TR0 fIRag | 14+1+1=3

Write one chemical equation for each showing addition, replacement
and dissociation reaction.

14 1 & LU.P.A.C ¥ forRau |

H H H H
I N
(1) H—C—C—C—C—H
R T
H H H H
(1) H—C=C—H
H
|
(M)  H—C=C—C—H
I
H H H




(1)

(1)

(1)

15

16

17

18

19

Write 1.U.P.A.C names of the following.
H H H H
I I I I
H—C—C—C—C—H
I (. I
H H H H

H—C C—H

H

I
H—C=C—C—H

(. I

H H H

(i) STl 5 YR a9 S={eld BT 9eral ol 2 ? |Asgy |
(i) gt & IR W ugd TS ST BT HAberd 5 geaies § fbar

TIT B, SABT AH T & P 2+1=3
(i) How does the shift farming (jhoom) encourage deforestation.
(ii) Write the name of the book containing the collection of the

species on the verge of extinction.

39 37U TH /Aol H MURTE Yee B RIT—ad1 SUR HRAT ? Dl
e 1+1+1=3
What steps would you take for the waste managementin your village/
colony. (any three)
et wifeal 6 wed § ? {1 a1 JaRe fdacie erfadal &t
ol BT | 1+2=3
What are dispersive powers? Describe any two internal dispersive
power.
FENUS &I I & T RIgT’ &1 [e H guid HITSTg | 3
Describe Big Bang theory of the generation of universe.
(i) ST 2016 ® WRA 7 U A fdhae IuvUE A& H Bl ?
(i) ufer @ 8 ?




20

21

22

(iii) wRT BT AR Tor=dT o7 A forfRay | 1+1+1=3

(i) How many satellites were lounched by India at the same time in june
2016 ?

(i) What is an alien ?

(iii) Write the name of the space agency of India.

=1 @1 gHfera SIfTY | 1+1+1=3
(i) <iRes TR & (A) Bt SrEfRR T

(if) 9Rd & g (B) gea

(iii) R URAY] faee @ o (C) S1. |l 3relt

Match the followings

(i) Father of plastic surgery (A) Homi Jahangir Bhabha
(ii) Bird man of India (B) Sushrut

(iii) Father of Indion Atomic science (C) Dr. Salim Ali

(i) BFET F9 F 100 M6 H Tplalad @ 3ffdrhad fdea+l AT FeiiRd
g7
(i) Teese W Ulel [T & YR IT U DI AT UHrT SI1ar g 2
(iii) are=t @1 S8 # A yBR @ fEd oRT yarRa g g ?
1+1+1=3
(i) By law how much amount of alcohol is permissible in 100 ml blood.
(i) Why is yellow colored paper or tap stick on headlights ?

(iii) What kind of electric current flows in vehicle’s batteries ?

(i) HUSE =1 U WANT & fofg Aex &1 Uk & i g1 ? A

fepfoTy |

(if) FagmSl o (T T) vd Gagwall 4 (tt) § U HdHR HHROT BRI

TR YT GROMAT IR TR 3gafRar & a4l § | fodl v s &1
W’S’ﬁl 2+2=4

(i) Why did mendal select peas plant for his experiment ? Explain.

(ii) Explain one low of heredity obtained from the result on mono

hybridcross of a tall homozygous (T T) with dwarf one (tt) .

23

@1 p" T B I gRT AHSSY |

5




24

25

26

@) (i) Pt ® P AR W AT W ST AT 8T & 2

(i) IIR ¥ AT 9@+ R B UM & oI el dRDI BT IUANT T
foar <tar € ? 24+1+1=4

(A) Explain p" scale by a diagram.

(B) (i) Why is there skin burning sensation on being stung by insects

(ii) Why are weak bases used for relief on increase in acidity in stomach

=1 uRuell § A9 B w0 god UfRIT S0 1T | 2+2=4

(i) "/g (ii)

/:rr ’ ’
A2 2 A A
Calcufate equivalent re@istance between A and B e following
circuits.
. ZQ .e
(i) (ii)
VAN
A B

G G A T TP UBTEl W G & o] Sarg 15 AR 8| 9 g
G M BT o aRIER & Sl P 38 Kg B | A 9 UBel & Wi W
19 HHUS H Uged & Sfafd G 15 Adbvs ¥ & Ugrel & MY 1R uga
ST 8 | QM1 §RT USTS WR de H & & AT 9k T gAdh—yqdh
A S HIoTe | (g =10 m/s?) 2+2=4
Suresh and Ramesh climb on a hill which is 15 m high Ramesh and Suresh

have same weight of 38 Kg Ramesh reaches at top of the hill in 19 sec.
Where as Suresh reaches in 15 sec. Calculate the power used by them
separately in climbing .

Pl ar vy ureul & WHERT Ud a-fad A foiRau | 1x4=4

Write common and botanical names of any four medicinal plants.

6




27 Sig Afdydr & 8N & ford STReErRN 5=l IR &R & fadga=r sy

I
AHSTXT STl & a9 & foldl RS U Iy Wk Ry
T T2 TIT DI AHRY | 2+2=4
Interpret any four reason for degradation of Bio-diversity.
OR

Explain two effects taken at International and National level each to save
disbursed species.
28 (i) Urad @ &1 AHifea form a9 Y |

(i) STox=d # SURed UoTsH & 9 Ud 99 &1 frfau |

(iii) TS BT HaifSe e U ARy, UG & fORT WhT # g @,
ST M foRay |

I

(i) S=Iod I &1 AHifea o a9=d |

(i) A & w3 fofor o ufshar eS|

(iii) <= gRT I B dTel &I IS YAl & A4 faIRay |

2+2+1=5

(i) Draw a labelled Diagram of Digestive System.

(ii) Write the name & function of enzymes present in fabric juice

(iii) In which part of digestive system maximum digestion and absorbtion
takes place.

OR

(i) Draw a labelled Diagram of excretory system.

(ii) Explain the process of urine formation in humans.

(iii) Write two excretory products which are excreted by skin.
29 (i) eN® @ amad ARelt & A 0T vd AT < forRag |
(i) =1 Tl BT I IRATY] BT & ggd HH H Ry |

F, C, Li, Be
37T

(i) TERBIS & WA Afed &I ARAT T dTel o fawg foaRag |
(i) TERBIE & YRATY] Hied B AR HUSA BT Ufwy’ FT 7T I 22
(iii) YeR®Ie Aisd @ 1 Bt forfay |
B. = awi & S°a grfcas ol & ded HA # foIfRay |

7




(i) Write merits and demerits three each in periodic table given by
Mandeleev.
(ii) Arrange the elements in ascending order of their Atomic Radius
F, C, Li, Be Ya+Ys+2=5
OR
A. (i) Write there postulates of Rutherford’s Atomic model.
(ii) Why Rutherford’s Atomic model is know as “Model of Solar
System.”
(iii) Give two short-comings of Rutherford Atomic Model.
B. Arrange the elements in ascending order of their metallic property
Ya+Ys+2=5

30 (i) 9¥a 9= B AR BT Aifhd o 998 |
(i) e 3fe, gRgfie, vd SRigfie QY & ®RoT faRay vd g9 <t &
R B b UM faIRay | 2+3=5

arerar
(i) 5T U& favg sraderauur @ ahar F9a1 Ud Bied @& 41 | @1

SIaT & fovor foa grr ufafaw o Rafa goisy |

(i) ueprer & e @t g faRay |
(iii) emuac= & M falRag | 2+1+42=5

(i) Draw a labelled Diagram of human eye.(ii) Write reasons and remedies

for Myopia, Hypermetropia and Presbyopia.
OR

(1) Draw a ray Diagram which shows location of image when an

object is placed between radius of curvature and focus.

(ii) Define Refraction of light.(iii) Write laws of Refraction.
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| 3B
9T 31 (Part-A)
ST S U
1 |RacH 1 1 1
2 | TN, oRex™ Vots |1 22
3 C,H>n 1 1 96
4 | gepreht NIA (Macaca rhesus) 1 1 44
5 |8l Udie =g Votls |1 130
6 |t 1 1 145
7 | GR Soll, aq Soll Votls |1 163
8 | Mfena ufcrer 1 1 41
9 O 1 1 47
10 | ¥r8e 1 AgHMA Vol | 1 185
11 | “Slract=gasil § urg S grell fafe=ar, fawHar den 1 1 226
qIRRfI®HI Sfeerar & oig fafqedr wgard & |
9T § (Part-B)
12 | T, AT T ABIH & Fa9 A & dlel qi—al 1+1+1 | 3 5,6
I forE W
DIy A T TP AMfha1, O ud sugeia | 1+41+1 | 3
13 | SIffbame o1 e fffbar foree @R 64,65,66
[. <A 1+1+1
14 | II. TersH 3 94,96
II. 9=
15 | S AT DI FASTE G BRI FHASIT TR 2+1 3 | 164,166
Methods of waste management
16 | ([B=T 09 U&d R 1 3h) 1+1+41 | 3 | 176,177,
178
17 | fadfre wfdaai o gy foras o el a1 1+1+41 | 3 | 192,193
mdRe faadfe wIfddal & dfera # forgs )R o9
SATATRET, by, Gl affe | a1 & aR H fore
N
18 | Big bang theory forge wR 3 3 201
I. 20 S9Us
19 | II. gl & qE} & SiId Bl Uferds ded © 1+1+41 | 3 | 214,210,
[II. ISRO (&) 212
20 | S e &1 W mae 98 Bd™ ) 1 3f®) 1+41+1 | 3 | 220,222




I. 100 ml < # 30 mg ¥ &H Tedhlald HI
A feiRa 2 |

21 | Il &9 ®IEx 4 @+ & forg 1+1+1 237,240
[I. fexe faga arr (DC)
4T 9 (Part-C)
22 |9 @ UGU & AIT & Ifad HRYT fords R 242 33,35,36
Ueh 9 BT IHR gl I ThY AH3 R
23 | o §=&m 52 999 W) 2+1+1 56
TPh H T AT BRI © 39 A B HIROT @l
TR STel9 9 &g BIdT & | 3F DI 18 A3 Bl
IeRIE R & forv
24
R, 2 136
20
9—1 HT Hel Uk R=R,+R,
R=2+2
=40
- 11
TJ—1 T4 2 B oI UfRI™ iy
1 1 1 _1+42 3
R4 27 4 4
R=2g
3
(ii)
zﬂd\MN
R, R, 2
A B
WA
R, R,

2Q 2Q

U—1 BT el TR R'=R +R,=2+2=4 Q
G—2 P oI URCRIE R'=R,+R,=2+2=4 O

UI—1 UG 2 Bl oI UfcRIg LI

R R R
11,1 1+1 21
R' 4 4 4 4 2
R'=20Q




= 38x10X15 _ 300 wart
(i) p:7:T 2
= 381015 _ 300 ypant
26 | fh=l IR & 9™ UAd R 1 3D 1X4 183
27 | Slafqaydl & g9 @ oy SR fhwal R HRoM 1X4 231-233
Pl I v W
OR
International effects 9 national efforts s & 2X2 233-234
T—al Yy forgd W)
9T g (Part-D)
28 [. fo= I 2.1 2 9,13,11
II. uftgs  UcH - U<Es 1X2=2
I B - WRhAH
. ®13d ara 1
OR ,
&. s ST 2.9 . 2021
| 1? N\ O\ 1/2+1/2
. =5, gRarfded 3%, T
Hydrocarbon (any two)
29 | 1. o U g 9 |l @l foree W) 2X1%
II. F<C<Be<li 2
OR 1XY5
< 2 77,81
A | L %S & WA Hisd & dF O foreq w® _1v
I[I. 98 SN foreq w 1,
[II. <cSXBie ATSd &I g Bl fogT W 1
II. Li<Na<K<Fr 2
B.
[. fu= d==m 934 2
II. f@e 3fe, I3fe T SRIGME ] & HRUT 1X3=3
T SUT forgs W
30 OR 110,114,
[ <& fxor fF 99 W 115
II. 3mgads &) gfRymT i

III. 3mugds & fm




